Bios 600 Quantitative Self Test ANSWER KEY

Complete the following problems without using a calculator :

1. Evaluate:
YR

1)L (—Zﬁ\é\ﬂl
b)2(4j ZLX \

. Evaluate and express your answer as a decimal:
3.0 3 \2 \ \
a 54—= — = = _= - — =
) 5= 2052 2= (546 5

3 —
2= F-F - - 1 =120
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3. Simplify:

, Ny Gl S/
3 §i2¢ (23}3 AR LI S M P i (
0 W:W@‘r:\w\

13 iy o \ A
0 10110 =10 "= \* - 10 A\ 00

4. Simplify:

a) 10x—(3x—(7x+2)) =\« (2% Tx ’:Dt \Ox- "\)\7(”’)5
= WO $9X A ’\\‘\X $L

(4, i
i 2 A

5. Find the product:

D (Ax+6) = Qb [y )= Vo 3 24w+ 2D 3k
\: \(&(’L*\\%X-‘r%(o
b) (2x+1)(Gx—-8) = \Ox*+Sx-1bx ~%@

c) 6x(3x* —7x+ 2)\= \Q ‘3’6‘2"2“\' LXK \
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6. (Please write the fractions in the simplest form.)

a) Convert 35% to a fraction. Convert 35% to a decimal.

;
3670:%0:%0@ 552@
20

b) Convert 0.12 to a percent. Convert 0.12 to a fraction.

VL 3
on|12%|  g12- 90,775
2

c) Convert g to a percent. Convert g to a decimal.

2% -

S oo * (DO.. L shen
2(100)= S el T T 100

2P =% % 4e0% =00

7. Solve forx.

a) 12x—8=-2 1A= -2+
2x+5 1

\2x= 6 Y
«=Yn ’\ 2
10x+3 3

(339) 305D )
xS = \Ox v 3

'S -2 = \D\I”(OSC

b)

VL =
% =X

13 |
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8. a) Whatis%of g? (ﬁ) x(%)z\%

b) What s 20% of 842 33
A, 20

C) 75% of what number is 367 2 x =3
- } 12
15%=4 % = 34

9. Your average so far in aclass is 88. This average counts for 75% of your grade
and the final exam counts for 25% of your grade. What do you need to make on the
final exam for your course average to be at least 90?

x =) (W)

W% YO NT) ¥ *(0.25) = A0

~ (ol.o + (O -’O\b A=
e ¥(0.25) | *=4b |
b

_’\_Q/— %LO.Q.SB = ;Q\
6609 “(%) = 24 N
10. A line contains the points (4,5) and (1, -1).

a) Find the equation of the line.
b) What is the slope of the line?

c) What is the y — intercept of the line? ¥ AEA
d) Graph the line.

5-(-0) b
PE = mg'—\—\q—g)— = — = /@
SLoPe Oranae 1% G-\ E

\{-—'ww@rb wnere ms S\Op-& and \0=\[ \"\)‘e"cﬁ'?)f

Yo S;lné e BR/\)YQ/QQQ'\’ ) su\os*\'*\fic m= L o\né,
e{*\ner 3'\\/9/\ @Dir\‘\‘ and s o\ve %, Y.

N (Y\S(—\/\D
%f :2‘1}\3’*‘\9

ﬁ = ’\’\9
Page @
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11. Consider the equation y =3x-8 \
a) Find y when x =—1. = ’5(‘—»\\—% =-2-%3°\

b) Findxwhen y=2. L= 3% R
\O = 3x

\9=x

= S
12. a) Write using scientific notation: 00000683 —’K (o.%%x \6

b) Write in decimal form without scientific notation: 1.82x10°

’TE&%ooxlx

L

13. Evaluate:

) log,8=x D U= 52 =2" 2 |x"3
b) Inve = M(e\é-) =\g

9 e -eh - gt (A

14. Simplify: In3x —In9x ;,O/KQ%‘A *ﬂm&o\ﬂ'\\
b (G |
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15. Select the best answer:

(\)19@ ~2718 Il. e~314 . e=In(2)

o, a) | only is true
Il only is true

©D c : [11 only is true
) d) | and 111 are true
(vo) L. ex2NR jotrer,. &1 o conSONT approf X2
T RN (not @) So Yhis SYoemenatr VS ng\bc,
Mf | V=0 (Stnhwe e,°=l> so s
L, ex g, D=

AV
Stokement 1S false -

16. The price of gas increased by 8% in June and another 15% in July. What was
the total percentage increase from June 1 to July 31?

\-0%
LA
g e
No® 2427
\'2,)%/\7:»(?, \neveaSe for

e, Ao onoths

Page 6 of 7 Quantitative Self-Test



Bios 600 Quantitative Self Test ANSWER KEY

//7’?@\0\,3@@5 =0.3 ¥ (c:)oo& =03
17. Approximately 30% of patients receiving a medication experience nausea.

a) Suppose 2 patients are selected at random. Find the probability that both
patients experience nausea.

b) Suppose 2 patients are selected at random. Find the probability that neither
experience nausea.

C) Suppose 2 patients are selected at random. Find the probability that exactly
one experiences nausea.

d) Suppose 2 patients are selected at random. Find the probability that at least one
experiences nausea.

Then of AVE TWD PFABVTS COULD WE T
" » n A R AV =
Y ORNSEoLS o 6000 . S0 TWE YO

. c«\cm\a\e%ese: ‘
Mot S Gl » (P& (60D 1(6,6) Sl pa-bisie
P(Bomx Mg NP

’Q\fsk
33’ QN )N> =
(S WAUSEOUS AND

R AU HUS)

= RN P(V) &9,%1%0‘ )
PE ppusBonS aNo 2% GOOD -
(P do Do oA

YO GooD A
=2 &) (W) =(o P03

V(& 6ooo MO pled 6000\”9%’,@@ o
) PE)HOANO0F) T &2 o

ces. 0.0+ 0.2) +0. 2\ +0.u4G =\-00

7"

<0, 05'?(’\%6&“@‘ e WAWSS ouwS) = Yo.ool
D) (ve e, whUSEouD) ={0.29 §
AR (ERACTLY OV 1S WAUNSE OASB{VKS,@ 02 (&M
_p(,Q) PG W)= 6.2 +0 2\ A 0N,
WAUSEOWS) =
AN LE{?\E\E O\AN,E(;\\S& e QNN\l
- Q)+ P &)+ (N )
=02 +0.2\* 0,04 = 0.3
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